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B-EMRT1=150 . fIET2=130 . NYFC=150
MIE(B1+B2) S (H) 18 (BO) 4= (HO) E() SEER (ke)
500 800 5760
125041250 1000 2890 1300 2000 6740
1500 1800 7710
2000 2300 8690
500 800 6510
150041500 Ieey 3390 1220 2000 70
1500 1800 8460
2000 2300 9440
500 800 7260
175041750 1000 3890 1300 2000 8240
1500 1800 9210
2000 2300 10190

JE-EhRT1=200 . flET2=150 . /A\FC=150

A (B1+B2) A= (H) #5118 (BO) = (HO) gl (D) sEZB=Kkg)
500 900 7860
200042000 1000 4450 1400 1500 8700
1500 1900 9540
2000 2400 10390
500 900 8610
225042250 rees 4950 1480 1500 EaE
1500 1900 10290
2000 2400 11140
500 900 9360
250042500 1000 5450 1400 1500 10200
1500 1900 11040
2000 2400 11890
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